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Инвертујући појачавач великог појачањаFigure 1:
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jednacine: [v1/R5 = 0, 

           (v2−v5)/R1 + (v2−v4)/R2 = 0, 

            v3/R6 + iopAmp + (v3−v4)/R4 = 0,

            v1 − v2 = 0,

           (v4−v2)/R2 + v4/R3 + (v4−v3)/R4 = 0,

            iug + (v5−v2)/R1 = 0,

            v5 = ug];
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promenljive: [v1, v2, v3, v4, v5, iopAmp, iug];(%i2)
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odziv: linsolve(jednacine, promenljive);(%i3)
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A: v3/ug, odziv, ratsimp;(%i4)
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limit(A,R4,0);(%i5)
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limit(A, R3, inf);(%i6)
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limit(limit(A, R3, inf), R4, 0);(%i7)


